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QUESTION 1

Which three runtime metrics can you monitor or collect from WebLogic Server applications?
A. Average execution time for a web application URL.

B. Number or transaction rollbacks for a web server

C. Maximum HTTP session timeout for a web application

D. Number of current sessions for an EJB

E. Numbers of faults /errors for a web service

F. Number of instances of an EJB

Correct Answer: AEF

QUESTION 2

A WebLogic Server instance can have multiple network channels defined for it.

Each channel for the server must have a unique combination of two elements. Identify these two elements.
A. Tunneling enabled

B. Listen address

C. Listen port

D. Outbound enabled

E. Channel weight

Correct Answer: BC

QUESTION 3

Which session persistence type is invalid?
A. Async_replicated

B. async_jdbc

C. replicated

D. async_memory

E. cookie
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F. file
G. replicated_if clustered

Correct Answer: D

QUESTION 4

You are using the Configuration Wizard to create a new domain that will host an EJB application without a
cluster. Remote EJB clients can therefore take advantage of WebLogic Server\\'s load balancing and
failover capabilities.

However, a proxy server exists between the EJB clients and this new cluster.

Which cluster attribute should you modify in the Configuration Wizard to ensure that external EJB clients
are routed correctly through the proxy?

A. Messaging Mode

B. Cluster Address

C. Broadcast Channel

D. Replication Channel

E. Cluster Type

Correct Answer: B

Reference: https://docs.oracle.com/middleware/1213/wls/CLUST/coherence.htm#CLUST660

QUESTION 5

When creating a dynamic cluster, you have multiple options concerning how dynamic servers are distributed across
machines in your domain. Identify three supported configurations.

A. Use a single machine.

B. Use all machines in a subnet.

C. Use all machines in the domain.

D. Use all percentage of machines in the domain.

E. Use all machines whose names match an expression.

Correct Answer: ACE
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